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Adding and Subtracting Integers

1) You are asked to solvé the problem 17 + (-30) Model this problem on the
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humber line below.

Practice 1

Each question is worth 1 point.

o 17

2) Will the answer to the problem 25 + (-95) be positive orhegative’s (circle one)

3) In complete sentences explain how to find the answer when adding a positive

and an negative integer.
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number Ime below.
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"16) You are asked to solve the problem (-54) - (-21) Model this problem on the
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17) Will the answer to the problem (-54) — (-21) be positive or"ﬁ“ega ive B(CIrcle one)

- 18)- In compiete sentences, explain how to find the answer when subtracting

o integers.
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